MYTIBTUMELOUNATIBIK TYP

['eorpadus nmoHiHeH PecnyOnuKanbiK MOH/IIK OJMMIINA/IA
18-21 coyip 2022 x.




MYIbTVUMELOWNAJIbIK TYPObIH EPEXXEJIEPI

MynbsTumMenusIbIK Typ 40 CypakTaH Typajsbl.

Ip Cypakka 5 Tagaay Oepuie/l, ColapblH TeK 01peyl AYphIC
Kayarl.

Tectinig 15 cyparbl aFbUIIBIH TUTIHE KYPACTHIPBLIFaH.
Op CypaKKa MYKHST Ha3ap ayJapbIHbI3.

Ip Cypakka | MUHYT yakKbIT Oepiiel.

Op AYphIC XKayanka — | ymanaaH.

JKayan mapakiianapblHia op AYPHIC sKayallThl JOHTCICKIICH
OenruIeH13, KaTe OOJIFaH JKarJaia >kayarThl ChI3bII TaCTaHbI3
KOHE CI13/1H TaHJaybIHbI3 OOMBIHILIA AYPHIC AT OMJIAUTHIH
KayaObIHBI3bl OCNT1ICH]I3.



COTTIJIIK !!!




Ne 1 CYPAK

A opriMeH OeNrICHIeH JIUTOC(EpaIbIK KO3FaJIbIC
TYp1H aTaHbI3 ?

A. cyOnykius

B. xomnmn3us | __ﬂw A
C. cipeansr g gk S—
D. ory P > B
E. pudTuHr

C




Ne 2 CYPAK

TeMeneri a3podoToCypeTTe KaHaail re0I0rusUIbIK KYPhLIbIM
OcHHEeJICHTEeH?

A. meteoputti kparep  B. JKanapraynblk kanbaepa

C. spo3usianraH aHTUKIMH D. spo3usiianrad cuHKIMH E. kap



QUESTION Ne 3

Using Table 1 which continent has the most

megacities?

A. Africa
B. Asia

C. Notrh America
D. South Americs
E. Australia

Table 1: The world’s largest cities in 2018 with

predicted growth

2018 Population (thousands)

rank City 2018 2030
1 Tokyo, Japan 37,468 36,574
2 Delhi, India 28,514 38,939
3 Shanghai, China 25,852 32,869
4 Sao Paulo, Brazil 21,650 23,824
5 Mexico City, Mexico 21,581 24111
6 Cairo, Egypt 20,076 25,517
7 Mumbai, India 19,980 24,572
8 Beijing, China 19,618 24,282
9 Dhaka, Bangladesh 19,578 28,076
10 Osaka, Japan 19,281 18,658

Data source: UN ESA



Ne 4 CYPAK

MpeiHa goTocypeTrTepie KaHaan 0anbIprbl XaJbIK KOPCETUITCH?
A.aitMapa
B. uHyut
C. wamoppo
D.Tyaper

E. caampaap




QUESTION Ne 5

This is a Nauru island. In the late 20™ century it boasted an income per
head above that of the USA due to rich resources of phosphates. These
have now become exhausted and the people are struggling to survive, How
we can call such type of economy?

A. sustainable economy
B. mixed economy

C. market economy

D. robber economy

E. no correct answer



QUESTION Ne 6

Approximately how much rainfall does Port Moreshy receive
In Its driest 4 months?

A.11mm B.55mm C.104 mm D. 520 mm E. 180 mm

Average annual rainfall 899 mm; average annual temperature 26.9°C
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B. Tanra
C. 1o XoHE IIOJIEHUT
D. caBanna

E. putraiibl 3KBaTOPJIBIK OpMaHIap



Ne 8 CYPAK

Knapk-®uiep MoaeiHIH 0Chbl HYCKACBIHBIH Kall TapMaFblHA KapalanbIM

OaJIbIK IIapyalllbLIbIFbI K1peal?
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A.OipiHmI

D. TeptiHmm

EpemA
OeMHOY CTRHManM3aumA

B.exinm C.y1iHmI

E. emukaiiceIichiHIa



Ne 9 CYPAK

JleMorpadusiibIK aybICYAbIH 2 K€3€HIH aHbIKTaHbI3?

D65

15

AA



QUESTION Ne 10

Considering the temperature and rainfall in Figure on Question 6 Port
Moresby is in which biome in Figure below?

A .temperate rainforest 4000+
B. temperate seasonal forest
C. tropical rainforest

D. tropical seasonal forest
/savannah

E. boreal forest

Tropical
rainforest

3000

2000

Tropical

Temperate seasonal
seasonal forest forest/
savanna

Annual precipitation (mm)

1000 -
Woodland/
shrubland

Subtropical
desert

Average annual temperature (°C)



Ne 11 CYPAK

- T

CyperTepie KaHaam KaylnTl TAOUFu KYObLIbIC OCHHEICHICH ?

A.cynon B. mnpraH C. maxap

D. Hapyto cy nipim1  E. mypmypanus



Ne 12 CYPAK

Heﬂl .
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Ne 13 C¥PAK

Kaprana ... Her13ri eHaipy1iaepl OOJbII TaObUIAThIH aiMaKTap

KOPCETLITCH.

50 100 150 200

Average regional output (kg/ha)

A.anvma B.6anan C.uurpyc D.makra  E.xode



QUESTION Ne 14

What is the reason of coral blenching?

A. low light due to cloudcover B. sea temperature increase
C. increases intourist numbers D. overfishing
E. when they get older they start blenching



Ne 15 CYPAK

bliranael TPONMKANEIK OPMAHFa KaHAA KIMMATOrpaMmMa CONKEC

Keaeml?
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Ne 16 CYPAK

... (-12 wmbIH b1 OYpHIH Ka3ipri Mekcuka aymarbiHJa maijga OOoJbl.
BipXBUIABIK 161 TYKBIMAAC MOJCHH OCIMIIK. byl eCIMAIKTIH €H Ipi
uMnopTTaymbuiapbl-Kanonusi, Mekcuka xoHe KepiTail. MoaeHHueTTi
aTaHbI3.

A.0upaii  B.dacoib C.xyrepi

D.xbI3aHak E. unim OyphIibl

(AKI aybu1 mapyambuibliFbl MUHUCTPIIITIHIH MAJIIMETTEP1
OoiibIHIIA (MJIH TOHH)

AKIII 347

KeITai 254

bpazunus 101
EO 64,56

ApreHTuHa o4



QUESTION Ne 17
Which factor i i

shown In this map?

Air Temperature

S0 40 -3 3 25 <20 1% <10 ] L}
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Data: MCEP/MNCAR Reanalysis Progoct, 1959-1997 Clima

RS
Animaton: Department of Geograghy. Uiniversity of Oragan, March 2000

A. continentality B. ocean currents

D. environmental pollution

E. latitude

C. Earth rotation



Ne 18 CYPAK

FOHECKO-nb1H Bykinonemaik Mypaiap Ti31IMIHE KipeTiH Ka3aKCTaHbIK €K1 KOPBIKTHIH
0ip1. Kopbik 1968 kbUIbI KyCTapablH KONTETEH TYPJISPIHIH MEKCHACHTIH Oiperei
CYyJIbI-0aTHaKThI JKepJIepiH caKkTay YIIiH KypbliraH. KazakcTaHHBIH Kail KOPBIFbI
Typajibl OassHAAIBIN )KaTKAHBIH aHBIKTAHBI3.

A. Anaken B. bapcakenmec C. KoprakbiH
D. Mapkaken E. Haypezeim



Ne 19 CYPAK

bepuireH MoJiiMETTEpre COMKEC TOIbIPaK TYPIH aHBIKTAHbI3:

OoubIcTap Conrycrik Kazakctan o0IbICH,
Kocranaii, Akmoina, [laBnogap, Akreoe
»koHe bKO kemn Oejiri

A. kyOa (Oypsie)

B. cyp-ky0a (cepo-0yprie)
C. KOHBIp (KallITaHOBBI)
D. xapa (4uepHO3eMBbI)

E. KOmKpbLT (KOpUYHEBHIE)




QUESTION Ne 20

Based on photos and information below find out the country
In 14 century this country called «Land of million of elephants and a white
umbrella». Population 7,2 million. : -

o

A

A. Laos B.Thailand C. Myanmar
D. Vietham E. Indonesia



Ne 21 CYPAK

VEGETATION MAP
OF
Guyana

by kapraza kapTorpa@usibIK
KECKIHHIH KaHIau TaC1Il
KOJIIaHBLIAIBI ?

A. apeangap Tocul

B. canansl ®oH Tociil
C. carnabIK POH ToclLiIl
D. kapTorpaMm TocuI1
E. HYKTEJIK ToclI



Ne 22 CYPAK

CypeTTe OypMajnaHy CUIIaThl OOMBIHINIA IPOCKIMSIHBIH KaHaal
TYP1 KOPCETIITEH?

A. TMIUHAPAIK TCHIIIaMaJllbl
B. >xanraH UMIUHIPIIK

C. KOHYCTBIK T€HIIIaMaJIbl
D. MOJIMKOHYCTBIK

E. a3UMyTTBIK TEHApaIbIK
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QUESTION Ne 23

Canadian business jet manufacturer. It was also formerly a
manufacturer of commercial jets, public transport vehicles, trains, and
recreational vehicles?

A. Airbus

B. Boeing

C. Embraer

D. Aeromot

E. Bombardier




Ne 24 CYPAK

AT eHikTepl (KOHCKUE TUPOTHI) ?

A. DKBaTOPJIbIH COATYCTIr MeH OHTYCTIriHae 10 sxoHe 25° apackiHaa
OpHaJIaCKaH €HIIKTEP

B. 30-35° conTycCTiK IeH OHTYCTIK apachIHAAFbl CYOTPOIUKTIK €HIIKTEP

C. XKepain oHTYCTIK >kapThl mapbiHAarel 40° neH 50° eHa1K apaibIFbIHIAFbI
MYXMTTBIK KEHICTIK

D. Xepaig oHTYCTIK >kapThl lapbiHaarbl S0° meH 60° eIk
apajbIFbIHIaFbl, AHTAPKTHAAFa )KaKbIH OPHAJIACKAH KEHICTIKTEP

E. 60° sxone 70° c. e. apaJIbIFbIHIaFbl CYOAPKTHUKAJIBIK €HIIKTEP

H — MNoAc noHW»KeHHOro aasneHuA

B — lNoAc noBbIWeHHOro gasneHusa

gg — Bocxogsawme noTokM Bo3gyxa

u — HucxopAwme NoTOKKU Bo3gyxa

<«—— — X0/104HbIA BO34YX

— — Ténnbi BO34yX

Tennosblie NnoAca:

- — apkuii noac

[:] — YMepeHHbIi noAc

[:] — XonogHslii noac
. — lNoAc moposa




QUESTION Ne 25

What indicator does the map represent?
A. gender inequality

B. lack of medicine

C. climate change

D. malnutrition and hunger

E. drinking water shortage

M Extremely alarming ® Alarmi
250



Ne 26 CYPAK

JlaBaHBIH Te€3 CaJKbIH/Aybl HOTHIKECIHE Makiaa O0IFaH MarMaibIK
Tay *KbIHBICBI. HEer13ri MuHepaagapbl: KBapll >KoHE Jiajia IIIaThl.

A. OOKcHuT
B. TakTarac
C. o6cunuaH
D. 6epuin
E. oman




Ne 27 CYPAK

[Hlerinauiepaly KaHAal Typl 3 CaHbIMEH
oOeruieHrex?
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B. ajuroBun

N
).

C. nearoBUn
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D. nipostoBuii

E. mumroBunt .




QUESTION Ne 28

Which number in the picture indicates the location of
the Gibson Desert?

A.?2




Ne 29 CYPAK

byt kopeik KazakcTaHHBIH Kail 00JIBICBIHAA OPHAJIACKAH?
A. Kp3bLiopaa

B. Anmarel
C. lIsreic Kazakcran
D. XKamOb11

E. Typkicran




Ne 30 CYPAK

CypeTTepae My3abIK OeJiepiHiH KaHaai popMachl KOPCETIITeH?

A) HyHarakTap

B) npymaunzgep

C) koitmaHali TacTap
D) Tpor
E ) nupx



QUESTION Ne 31

Which of the picture corresponds to the term "cuesta"?




Ne32 CYPAK

HopBerus »aranayiaapblH Kail T€HI3 LIANBII )KaTKaH KOK?
A. banTbik

B. Conrycrik
C. bapenn
D. Hopger

E. bapinbik TeH131ep HOopBErusHbI MIAMBII KaThIP




Ne33 CYPAK

CypeTTep KaHaal A1HU arbIM/Ibl O11a1pea1?
A. Maszha0Orap
B. bahan

C. Konrrap

D. bantucrep

E. Apy3nap




QUESTION Ne 34

Which lithospheric plate is indicated by the number 3 in the
picture?

A. Scotia B. Vinson C. Cocos

D. Nazca E. Drake




Ne 35 CYPAK

TeMeH 1€ KeNTIpUIreH KOPIKTI KepJiep Kaid 0OJIbICKA TOH?
A. Aktebe B. Akmona

C. ITaBnomap D. Kaparanmabl
E. JKamObL1




Ne 36 CYPAK

TeMeH1e kopceTUIreH enaep KaHaal KpuTepuiiaep OOMbIHIIA
O1pIKTIPIITEH:

A. namy1isl eaaep
B. MyHal SKkCOPTTAayIIbI €IIIEP

C. apanasbIK eaaep

D. KypJBIKIIIIIK €JIACP

E. MOHApXHUSAJIBIK €Aep

N &
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QUESTION Ne 37

The picture shows endemics of one country. Name the capital?
A. Brasilia

B. Windhoek
C. Jakarta

D. Bangkok
E. Suva




QUESTION Ne 38

Which country is not a member of
ECOWAS (Economic Community
of West African country) ?

A.Benin B.Togo C. Mali
D. Cameroon E. Ghana




Ne 39 CYPAK

e

CypeTTe Kail ©3¢H KOpCETUIreH?
A. Jlena B. Konbsima C. Enuncen

D. AHanpIp E. Uapurupka




QUESTION Ne 40

Which of the following cities is located north of the others?

A. Washington B. Madrid C. Sapporo
D. Beijing E. Ankara
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TecT agKkTaInbl!

| eorpagpus




MYJTTUMEOUNHBIN TYP

PecnybnukaHckon npeaMeTHoOn onuMnuaabl no reorpadpun,
18-21 anpena 2022 .




[MPABUNA MYNLTUMEOMNHOIO TYPA

MynbsTUMEAUNHBIN TYP COCTOUT U3 40 BOIIPOCOB.

Ha xaxapii1 BOmpocC JAaeTCAd 5 BApUAHTOB OTBETOB, TOJLKO OJIMH U3
HUX IPABUILHBIN.

15 BOIIPOCOB TECTOB COCTABIICHBI HA AHTJIMMCKOM SI3BIKE.
BHUKanTe B KaXIbli1 BOIPOC BHUMATEIBHO.

Ha kaxnsiit Boripoc naerca | MmunyTa.

3a KaXJIbIi TPaBWJIbLHBIN OTBET — 1 Oas.

B nucrtax oTBETOB 0OBEAUTE MPABUIBHBIN OTBET KPYKKOM, €CIIH
BbI CACJIAIN OIHOKY, 3a4EPKHUTE OTBET U OOBEUTE KPYKKOM
MIPABUWJILHBIK HOBBIA OTBET I10 BAallIEMy MHEHUIO.



VIAYM I




BOITPOC Ne 1

HazoBute Bu IMTOCHEPHOro ABUKECHUS MO
0003HauenueMm A7

A. cy611y1<u14 <

— Oxeannueckasn
Kopa

B. xommuzug

— AcTtenocdepa

== HKoHTHHeHTanbHan

Kopa

Co CHpeI[I/IHr Fnyﬁoa i " ayra

D. caBur

E. pudTHuar




BOIIPOC Ne 2

Kakoe reojaorunueckoe CTpoeHHE M300pake€HO Ha JAHHOM
a’po(POTOCHUMKE?

A. meteoputHbld Kparep B. Bynkanudeckas xanpiaepa C. apoaupoBaHHas
aHTUKJIMHAIL D, spoaumpoBaHHas CUHKIWHAIBL  E. Kap



QUESTION Ne 3

Using Table 1 which continent has the most

megacities?

A. Africa
B. Asia

C. Notrh America
D. South Americs
E. Australia

Table 1: The world’s largest cities in 2018 with

predicted growth

2018 Population (thousands)

rank City 2018 2030
1 Tokyo, Japan 37,468 36,574
2 Delhi, India 28,514 38,939
3 Shanghai, China 25,852 32,869
4 Sao Paulo, Brazil 21,650 23,824
5 Mexico City, Mexico 21,581 24111
6 Cairo, Egypt 20,076 25,517
7 Mumbai, India 19,980 24,572
8 Beijing, China 19,618 24,282
9 Dhaka, Bangladesh 19,578 28,076
10 Osaka, Japan 19,281 18,658

Data source: UN ESA



BOITPOC Ne 4

Kakoe kopeHHOE HaceIeHuEe NPEeACTaBICHO HA poTorpadusix?
A.aitMapa

B. nHyUTHI
C. wamoppo
D.Tyaperu

E. caamsl



QUESTION Ne 5

This is a Nauru island. In the late 20™ century it boasted an income per
head above that of the USA due to rich resources of phosphates. These
have now become exhausted and the people are struggling to survive, How
we can call such type of economy?

A. sustainable economy
B. mixed economy

C. market economy

D. robber economy

E. no correct answer



QUESTION Ne 6

Approximately how much rainfall does Port Moreshy receive
In Its driest 4 months?

A.11mm B.55mm C.104 mm D. 520 mm E. 180 mm

Average annual rainfall 899 mm; average annual temperature 26.9°C
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BOITPOC Ne (

B xakol npupoaHON 30HE BCTpEUaeTCsa OOMIBHOE STYEUCTOE
BBIBETPUBAHUE?

B. Tanra

C. MyCThIHU U TOJYTYCThIHU

D. caBanna

E. BmaxxHbIC 9KBATOPHUAJIBHBIC JICCA



BOIIPOC Ne 8

B kakyro cTpoky 3T0oM Bepcuu mojenu Kiapka-dOunirepa BKIKUYEHO
IPUMHUTHUBHOE PHIOHOE XO35MCTBO?

CIpyYKTYPa 3AHATOC TH IT0
C 5 TOPAaM 3 KOHOMITKIL B %0

AoMHOY CTRMan bHaA i MHaycTpran bHanA 1 MocTuHay TR

70 3noxa i 3Moxa i TELTEER

A E E 3noxa
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50 Mepe i HbIN i 1 TpeTH4HBII
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OeMHOY CTRPHANKM3aUMA Bpema
A.TIEpBAYHBIN B.BTrOpUYHBIN C.TpeTUYHbBIN

D. yeTBepTUUHBIN E. Hu B 0J1HOU



BOITPOC Ne 9

Cpenu npeaioKeHHbIX onpeaeanTe 2 pazy aeMorpa@uyaeckoro
nepexona’?

C

65
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15 15
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AA B.B C.C DD E.E



QUESTION Ne 10

Considering the temperature and rainfall in Figure on Question 6 Port
Moresby is in which biome in Figure below?

A .temperate rainforest 4000+
B. temperate seasonal forest
C. tropical rainforest

D. tropical seasonal forest
/savannah

E. boreal forest

Tropical
rainforest

3000

2000

Tropical

Temperate seasonal
seasonal forest forest/
savanna

Annual precipitation (mm)

1000 -
Woodland/
shrubland

Subtropical
desert

Average annual temperature (°C)



BOITPOC Ne 11

Kakoe ommacHOe nNpHUpOIHOE SIBICHUE IIPEACTABICHO Ha

pUCyHKax?

A.cynon B. runepran  C. naxap

D romorovoT HanvTo F vMvoMvDatims



BOIIPOC Ne 12

Kakoii puCyHOK JIy4Ille BCEr0 COOTBETCTBYET ITOHATUIO
«TAHATOTYyPHU3M»?

Treatment ical ion
™, o diCéqat!
#‘525'!.9

Change in

PSS, medication
" ’p.



BOITPOC Ne 13

Ha KapTC IIOKa3aHbI PCTHUOHBI, KOTOPLIC ABJISIFOTCS OCHOBHBIMHA

POU3BOAUTEIISIMU:

50 100 150 200

Average regional output (kg/ha)

A. s0nmokun  B. O0ananel C.mutpyc D.xnomok — E.xode



QUESTION Ne 14

What is the reason of coral blenching?

A. low light due to cloudcover B. sea temperature increase
C. increases intourist numbers D. overfishing
E. when they get older they start blenching



BOITPOC Ne 15

Kakag kmuMaTorpamMma COOTBETCTBYET BIAKHOMY TPOIHUYCCKOMY

aecy?

A " Alrvitude: 1B= *C: 12.4

B " Alvitude: 3
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BOIIPOC Ne 16

. Obula BBeA€HA B KylbTypy /(-12 TbiCc. JIeT Ha3zaJg Ha TEPPUTOPUU
coBpeMeHHOW  Mekcukn. OpHONETHEE  TPABAHUCTOE  KYJIBTYpPHOE
pactenue. KpynHeumne uMIopTepbl 3TOU KYJIbTYPhl SABISAIOTCA SANOHMUS,
Mexkcuka u Kurau. HazoBure Kynbrypy.

A.mmennna B.dacons C.KyKypy3a
D.tomatet  E.nmepen unnu

(M0 TaHHBIM MUHUCTEPCTBA CEIbCKOTO x03siicTBa CIITA

(MJIH TOHH)
CIIA 347
Kuraii 254
bpazunus 101
EC 64,56

ApreHTuHa o4



QUESTION Ne 17
Which factor i i

shown In this map?

Air Temperature

S0 40 -3 3 25 <20 1% <10 ] L}

3 m 1 0 A5 ¥ Bl

I 1

Data: MCEP/MNCAR Reanalysis Progoct, 1959-1997 Clima

RS
Animaton: Department of Geograghy. Uiniversity of Oragan, March 2000

A. continentality B. ocean currents

D. environmental pollution

E. latitude

C. Earth rotation



BOIIPOC Ne 18

OpnuH 13 ABYX Ka3aXCTaHCKHUX 3allOBEIHUKOB, BXOASAIINX B CIIMCOK BceMHupHOTo
Hacieauss FOHECKO. 3anoBennuk co3gad B 1968 roay 11t COXpaHEeHUs YHUKAJIbHBIX
BOJHO-0OJIOTHBIX YTOAUM, SIBIISIIOIIMXCS MECTOM OOMTAaHUS MHOTHX BHIOB MTHII.
Onpenenute, 0 KakoM 3anoBegHuKe KazaxcTaHa uaet peus.

A. Anakonsckuii B. bapcakensMecckuii C. KopramKbIHCKUMA
D. Mapkakonbsckuii  E. Hayp3ymckuii



BOIIPOC Ne 19

ITo IIPUBCIACHHBIM JaHHBIM OIIPCACIINTC THUII II0YBbI

Oo6nactu CeBepo-Kazaxcranckast 001acTh,
oonbpmiast vacth Kocranaiickon,
AxmonuHCKoM, I1aBmogapckon,
AxTroounckoi u 3KO

A. Oypsie
B. cepo-Oypsie

C. KallITaHOBBIC

D. yepHO3eMBbI

E. KOpH4YHEBBIE MOYBHI



QUESTION Ne 20

Based on photos and information below find out the country
In 14 century this country called «Land of million of elephants and a white
umbrella». Population 7,2 million.

o

o

A

A. Laos B.Thailand C. Myanmar
D. Vietham E. Indonesia



BOIIPOC Ne 21

VEGETATION MAP
OF
Guyana

Kakoii crioco0
KapTorpa(ruuecKoro
M300paKEeHUSI UCII0JIb30BaH Ha
3TOM Kaprte?

A. crioco0 apeajioB

B. crtoco0 Ka4eCTBEHHOTO
(dboHa

C. crtoco0 KOJIMYECTBEHHOTO
(dboHa

D. cnoco0 kapTorpamm
E. ToueuHsbIi CII0CO0



BOITPOC Ne 22

Kakon BUI MPOEKIMHU 110 XaPAKTEPY UCKAKEHUHN TTPEACTABIICH
HA PUCYHKE?

A. TUITMHAPHUYECKAS PAaBHOBEINKAS
B. nceBponuanHapudecKas

C. KOHHYECKas paBHOYTOJIbHAS

D. monmukoHnyeckas

E. asumyTanbpHas paBHOIIPOMEKYTOUHAS

B e T e e B0*

120° 160%




QUESTION Ne 23

Canadian business jet manufacturer. It was also formerly a
manufacturer of commercial jets, public transport vehicles, trains, and
recreational vehicles?

A. Airbus

B. Boeing

C. Embraer

D. Aeromot

E. Bombardier




BOITPOC Ne 24

KoHckue (Jonagntpie) MupoThI?
A. mpoTsI pacrnionokeHHbie Mexay 10 u 25 © ceBepHee U 10kHee DKBaTopa
B. cyOTponuueckue mupoTsel Mmexay 30 u 35 © Ha ceBepe U 1ore

C. okeannueckoe mpocTpancTBo Mexay 40° u 50° mupotsl B FOxHOM
MOJTyLIapyuu 3eMJIn

D. npoctpanctBaM Mexay 50° u 60° mupoTsl B KOKHOM Mosyimapuu
3eMJIM, KOTOPBIE PACTIONIOKEHBI PAAOM C AHTAPKTUION

E. cybapkTuueckue mupoTsl Mexay 60° u 70° c. .

H — MNoAc NoHWKeHHOro AaBneHuMa

B — NoAc noebiweHHOr0 AasneHunA

g; — BocxoasallMe NOTOKKM BO3AyXa

ZZ — HucxopgawmMe NOTOKKW BO3ayXa

«—— — X0/N04HbIM BO34YX

——> — TENNbIK BO3OYX

Tennoeble nosaca:

. — Xapkuit nosac
[:] — YmepeHHbI noAc
C] — XonopgHbiit nosc
. — lMNosac moposa




QUESTION Ne 25

What indicator does the map represent?
A. gender inequality

B. lack of medicine

C. climate change

D. malnutrition and hunger

E. drinking water shortage

M Extremely alarming ® Alarmi
250



BOITPOC Ne 26

Marmarudeckasi TopHas mopoja, 00pas3yroierocs B pe3yiabTare
OBICTPOTO OXJIaXKACHUS JaBbl. OCHOBHBIC MUHEPAIbl: KBapIl U
IIOJICBOM IIIIIAT.

A. OOKcHUT
B. cnanen
C. oOcunuaH
D. 6epunn
E. omman




BOIIPOC Ne 2/

Kakoil Buj OTIIO)KEHHUI oTMeUeH 1uppoit 37

A. SIIIOBUH

B. ajuroBunt ® 9

~-3,
P N—
P -
-
-

I

2\
).

C. nearoBUn
D. niposroBum I

E. wiiroBun

+




QUESTION Ne 28

Which number in the picture indicates the location of
the Gibson Desert?

A.?2




BOITPOC Ne 29

B kakoit oonactu Kazaxcrana HaXoquTCSI JaHHBIM 3alIOBEIHUK?
A. Kb3putopiuHcKas

B. AimaTtnHCcKas

C. Bocrouno-Kazaxcranckas

D. XamOruickas

KABAKCTAH 255 %




BOITPOC Ne 30

Kakast hopMa JieIHUKOBOTO penbe(ba MoKa3aHa Ha
(doTorpadgusax?

A) HyHaTaKu

B) npymauHBI
C) 6apaHbu JIOBI
D) tpor
E. nupk



QUESTION Ne 31

Which of the picture corresponds to the term "cuesta"?




BOITPOC Ne 32
Kakoe mope HE ombiBaeT 6epera Hopperun?
A. bantuiickoe
B. CeBepHoe
C. bapeHiioBo
D. HopBexckoe
E. Bce mops ombiBatoT HopBeruio




BOITPOC Ne 33

Kakoe penuruno3Hoe TeueHNE MPEACTABIISIIOT PUCYHKN?
A. Ma3xaObl
B. baxau
C. Komnrsl
D. bantusm

E. JIpy3sI




QUESTION Ne 34

Which lithospheric plate is indicated by the number 3 in the
picture?

A. Scotia B. Vinson C. Cocos

D. Nazca E. Drake




BOITPOC Ne 35

JI1s Kakoi 00JIaCTH XapaKTEPHBI JOCTOMPUMEUYATEIbHOCTH?
A. AktroOuHcKas B. AkMojauHCKas
C. ITaBaomapckas D. Kaparanaunackas

E. XKamObLICKas




BOITPOC Ne 36

ITo xkakoMy KpUTEpHUIO 00bEAUHEHBI IIPEACTABICHHBIC HIKE
CTPaHBHI:

/
A. pa3BUBaIOIINE CTPAHBI i
B. cTpaHbI-3KcOpTEpHl HEPTU
C. OCTpOBHBIE CTPaHbI

D. BHYTpPMKOHTHHEHTAJIbHBIC CTPAHbI

E. MOHapXH4eCKue CTpaHbl




QUESTION Ne 37

The picture shows endemics of one country. Name the capital?
A. Brasilia

B. Windhoek
C. Jakarta

D. Bangkok
E. Suva




QUESTION Ne 38

Which country is not a member of
ECOWAS (Economic Community
of West African country) ?

A.Benin B.Togo C. Mali
D. Cameroon E. Ghana




BOITPOC Ne 39

Kakas pexa orMeueHa Ha pUCYHKE?

A. Jlena B. Koabima C. Eaucen

D. AHagpIpb E. Uapurupka




QUESTION Ne 40

Which of the following cities is located north of the others?

A. Washington B. Madrid C. Sapporo
D. Beijing E. Ankara
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